* convolve.c
*********************************************************************l

/* Standard includes */

#include <assert.h>

"RERBE R0 N

#LhCulue <>udeio. h> /= macoe(,, reacluc() */

/* Our includes */

#include "base.h"

#include "error.h"

#include "convolve.h"

#include "klt_util.h" /* printing */

#define MAX_KERNEL_WIDTH 71

typedef struct
conansCIRtroduction to C
float data[MAX KERNEL_WIDTH

} ConvolutionKernel;

/* Kernels */



Your first (?) C program

#include <stdio.h>

int main() {

return O;




Your first C program

#include <stdio.h>

int main() {

return O;

CS@kntu:lecture5$ gcc progl.c
CS@kntu:lecture5$ ./a.out

CS@kntu:lecture5%



Your first C program

#include <stdio.h>

int main() {

return O;




Your first C program

#include <stdio.h>

int main() {

return O;

CS@kntu:lecture5$ gcc prog2.c
CS@kntu:lecture5$ ./a.out

CS@kntu:lecture5$



Your first C program

#include <stdio.h>

int main() {

return O;




Your first C program

#include <stdio.h>

int main() {

return O;

CS@kntu:lecture5$ gcc prog3.c
CS@kntu:lecture5$ ./a.out

CS@kntu:lectureb5$



Your first C program

#include <stdio.h>

int main() {

return O;




Your first C program

#include <stdio.h>

int main() {

CS@kntu:lecture5$ gcc prog4.c
CS@kntu:lecture5$ ./a.out

CS@kntu:lecture5$%



Your first C program

#include <stdio.h>

int main() {

return 0O;
} CS@kntu:lecture5$ gcc prog4.c -o prog4
CS@kntu:lecture5$%
CS@kntu:lecture5$ ./prog4

CS@kntu:lectureb5$%



Variables

char c;
unsigned char uc;
signed char sc;

short sh;

unsigned short ush;

signed short ssh;

int i;

unsigned int ui;

signed int si;

long 1;
unsigned long ul;
signed long sl;

variables.c



Variables L juaia

short sh; variables.c
unsigned short ush;

signed short ssh;
int i;
unsigned int ui;

signed int si;

long 1;

unsigned long ul;

signed long sl;

float £f£;
double d;




Variables: the assignment operator (=)

#include <stdio.h>

int main() {
int a;

printf ("Salaaam! %d Chetor?\n", a);

return O;

}




Variables: the assignment operator (=)

#include <stdio.h>

int main() {

int a;

printf ("Salaaam! %d Chetor?\n", a);

return O;

} CS@kntu:lecture5$ gcc progs.c
CS@kntu:lecture5$%
CS@kntu:lecture5$ ./a.out
Salaaam! -1 Chetor?



Variables: the assignment operator (=)

#include <stdio.h>

int main() {

int a;

a = 10;

printf ("%d\n",a);

return O;

}




Variables: the assignment operator (=)

#include <stdio.h>

int main() {

int a;

a = 10;

CS@kntu:lecture5$ gcc progb.c
CS@kntu:lecture5%
CS@kntu:lectureb$
CS@kntu:lecture5$ ./a.out

10

CS@kntu:lecture5$

printf ("%d\n" ,a);

return O;

}



the printf function formats

character

decimal (integer) number (base 10)

exponential floating-point number

floating-point number

integer (base 10)

octal number (base 8)

a string of characters

unsigned decimal (integer) number
number in hexadecimal (base 16)

print a percent sign

print a percent sign



https://alvinalexander.com/programming/printf-format-cheat-sheet

reading variables

#include <stdio.h>

int main() {

int a;

scanf ("%d", &a);

printf ("%d\n" ,a);

return O;




reading variables

#include <stdio.h>

int main() {

int a;

scanf ("%d", &a);

printf("%d\n",a); :lecture5$ gcc prog7.c
:lecture5$
return 0; :lecture5$ ./a.out

CS@kntu:lectureb$



reading variables

#include <stdio.h>

int main() {

int a;

scanf ("%d", &a);

printf ("%d\n",a*a) ;

return O;




reading variables

#include <stdio.h>

int main() {

int a;

scanf ("%d", &a);

printf ("%d\n",a*a) ;

CS@kntu:lecture5$ ./a.out
12

144

CS@kntu:lecturessS
cs@kntu:lecturess [

return O;



reading variables

#include <stdio.h>

int main() {

int a,b;

scanf ("%d", &a);
scanf ("%d", &b);

printf ("a=%d, b=%d, a+b=%d, a-b=%d\n", a, b, a+b, a-b);

return O;




reading variables

#include <stdio.h>

int main() {

int a,b;

scanf ("%d", &a);
scanf ("%d", &b);

printf ("a=%d, b=%d, a+b=%d, a-b=%d\n", a, b, a+b, a-b);
CS@kntu:lecture5$ gcc prog9.c && ./a.out
return O;

a=12, b=13, a+b=25, a-b=-1

CS@kntu:lectures$
CS@kntu:lecturessS



reading variables

#include <stdio.h>

int main() {

int a,b;

scanf ("%d %d", &a, &b);

printf ("a=%d, b=%d, a+b=%d, a-b=%d\n", a, b, at+b, a-b);

return O;




reading variables

#include <stdio.h>

int main() {

int a,b;
scanf ("%d %d", &a, &b);

printf ("a=%d, b=%d, a+b=%d, a-b=%d\n", a, b, at+b, a-b);

return O; CS@kntu:lecture5$ gcc progl0.c && ./a.out

a=12, b=13, a+b=25, a-b=-1
CS@kntu:lectures$S



Printing prompts

int main() { prompt.c
int a,b;

printf ("Enter a: ");
scanf ("%d", &a);

printf ("Enter b: ");
scanf ("%d", &b);

printf("%d + %d = %d\n", a, b, a+b);

return 0;




Printing prompts

int main() { prompt.c

int a,b;

printf ("Enter a: ");
scanf ("%d", &a);

printf ("Enter b: ");
scanf ("%d", &b);

printf("%d + %d = %d\n", a, b, a+b);

return 0; CS@kntu:lecture7$ gcc prompt.c && ./a.out
Enter a: 12

Enter b: 16

12 + 16 = 28

CS@kntu:lecture7$



Printing prompts

int main() { prompt.c
int a,b;

Be careful about autocorrection

printf ("Enter a: "); sysTems (homewor'k, CXGH'\). Do not

scanf ("%d", &a); print prompts unless requested in

the question.
printf ("Enter b: ");

scanf ("%d", &b);
printf("%d + %d = %d\n", a, b, a+b);

return 0; CS@kntu:lecture7$ gcc prompt.c && ./a.out
Enter a: 12

Enter b: 16

12 + 16 = 28

CS@kntu:lecture7$



decision making = s

#include <stdio.h>

int main() {
int a,b;
scanf ("%d %d", &a, &b);
if (a > b) {

printf("a is bigger than b\n");
}

return 0O;




decision making = s

#include <stdio.h>

int main() {
int a,b;
scanf ("%d %d", &a, &b);
if (a > b) {

printf("a is bigger than b\n");
}

return 0O;




decision making & s

#include <stdio.h>

int main() {

int a,b;
CS@kntu:lecture5$ gcc progll.c && ./a.out

scanf ("%d %d", &a, &b);

a is bigger than b

if (a > b) { CS@kntu:lecturessS

i . . CS@kntu:lecture5$ gcc progll.c && ./a.out
printf("a is bigger than b\n"); P

14

CS@kntu:lecture5$ gcc progll.c && ./a.out

return O;
CS@kntu:lectures$



decision making = s

#include <stdio.h>

int main() {
int a,b;

scanf ("%d %d", &a, &b);

if (a > b) {
printf("a is bigger than b\n");
}

else {

printf("a is not bigger than b\n");
}

return O;




